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(Q10. State whether the following statements are true or false. {::ive

0l11.

@12,

Q13.

reasons for your answer. (4)

{a)  When total revenue is constant, average revenue will

alsg be constant.

(b) - The distance between average total cost curve and
-average variable cost curve is constant.

(¢) When marginal product falls, average product will also
fall.

(d A monopolist can sell any quantity he likes at a price.

(a) Explain the difference between normal goods and
inferior goods. Give an examnle in each case.

(b) Good X and Y are substitutes. Explain the effect of fall

in price of Y on demand for X. (3+3)
What are the conditions of consumer's equilibrium under
the indifference curve approach? What changes will take place
if the conditions are not fulfilled to reach equilibrium?  (6)

A severe drought results in a drastic fall in the output of

' . wheat. Analyse how will it affect the market price of wheat? (6)

Ql4.

Q1s.

Qle.

Explaih '‘Law of Variable Proportions' with the help of a

diagram. (6)

OR

Explain the profit maxifiizing conditions of a firm using
marginal cost and marginal revenue curves.

SECTION-B
State which of the following is false YL
(a) APS can be negative
(b)  APS can be zero ;
(c)  APS can be more than one
(d) APS can be less than one
Out of the following which one is not an economic activity?
(1)
(a)  Medical services rendered by a dispensary
(5) A housewife doing housekold work

3)
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Q17.

Q18.

a1s.

Q20
Q21.

Q22.

Q23.

() A lawyer doing his practice

(d) A maid working full time with a famijly o

Which of the following is not an Intermediate expendityre?
] (1)

(@)  Fee paid to the lawyer by a producer

(b)  Milk purchased by a hotel]

(c) A machine purchased for installation in a factory

(d)  fertilizers purchased by a farmer

In order to correct deficient demand. Reserve Bank of India

may : . : (1)

(a)  increase the bank rate

(b)  increase cash reserve ratio

(¢)  purchase securities in the open market

(d)  sell securities in the open market

Break-even point is achieved when (1)

(a) national income = consumption

(b)  consumption = saving

(c) consumption = investment

(d)  aggregate demand = aggregate supply

Define capital account. What gre its components? (3)

Explain the significance of standard of deferred Payment"

function of money. (3)

What is fiscal deficit? What are the implications of a large

fiscal deficit for the economy? (3)

OR i

Classify the following into revenue expenaiture and capital

expenditure. Give reason for Yyour answer,

(@) Repayment of loans

(b)  Grants given to state governments

()  Expenditure on purchase of land

Write down some of the limitations of using Gross Domestic
Product as an index of welfare of g country, - (4)

(4)
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Q.17 State any one objective of financial Statement analysis.
(1)

Q. 18 Name any one tool for analysis of financial statement.

(1)
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- Q.23 (a) The current ratio of a company is 2:1 state, giving

_ reasons, which of the following transactions would improve -

. reduce or not change the current ratios. (2%

sk i. Repayment of current liability : ;

' ; ii. Purchasing goods on credit

;

; (b) Current liabilities of XYZ Itd. Are Rs. 700000 and

; Quick Ration is 2 : 1 . Inventories are Rs. 600000. Find out

i current assets & current ratio. (a) - |
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